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Crack the code – A life-long skill

The answer of each maths problem represents a letter of the alphabet. Solve the 
equations, then place the letters in order on the lines provided.

A B C D E F G H I J K L M

85 51 25 33 87 17 23 66 45 99 10 94 5

N O P Q R S T U V W X Y Z

56 57 39 42 16 75 36 24 48 12 31 9 63

1.	 (8 x 9) – (79 – 23) = 

2.	 (121 ÷ 11) + (18 + 58) = 

3.	 108 – 23 = 

4.	 77 – 44 = 

5.	 15 x 3 = 

6.	 17 + 13 + 15 + 11 = 

7.	 (75 ÷ 5) + (56 ÷ 7) = 

8.	 81 ÷ 3 + 18 = 

9.	 80 + 30 – 35 = 

10.	 33 + 30 = 

11.	 100 – 20 – 24 = 

12.	 (12 x 7) + 3 = 

13.	 43 – 7 = 

14.	 The prime number after 13 

15.	 12 x 3 = 

16.	 45 – 20 + 41 = 

17.	 (31 x 2) + 25 = 

18.	 (54 – 24) + (18 ÷ 6) – 10 = 

19.	 8 + 8 = 

20.	 (12 x 9) – 21 = 

21.	 (121 + 9) – (9 x 5) = 

22.	 18 + 6 + 5 + 11 + 8 – 12 = 

23.	 (96 ÷ 12) + (7 x 11) + 2 = 

24.	 110 – 35 = 
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25.	 (70 ÷ 10) + 29 = 

26.	 (6 x 6) + 39 = 

27.	 150 ÷ 15 = 

28.	 (144 ÷ 12) + 33 = 

29.	 (8 x 12) + 45 – 47 = 

30.	 (5 x 2) + 32 + 52 = 

31.	 32 + 6 + 21 + 9 + 7 = 

32.	 45 ÷ 5 = 

33.	 (130 ÷ 10) + (8 x 4) + 12 = 

34.	 (52 + 19 + 73) ÷ 6 = 

35.	 100 ÷ 4 = 

36.	 (55 x 2) – (125 ÷ 5) = 

37.	 25 + 31 = 

38.	 38 + 27 + 8 + 21 – 7 = 

39.	 4 x 12 = 

40.	 100 – 13 = 

41.	 (3 x 25) – 59 = 

42.	 11 x (24 – 16) – 3 = 

43.	 (111 – 21) – (71 – 6) = 

44.	 37 + (60 ÷ 12) = 

45.	 (45 ÷ 3) + 9 = 

46.	 11 + 34 = 

47.	 55 + 9 + 12 – 60 = 

48.	 79 + 8 = 
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